- 36.00 - - 78.00 -

— N .7 e \ 3 55 7
J J \ \ _ ) \ .
L — ]
AN .7 3 Y 7
J J \ \ _ ) \ .
L — ]
AN .7 3 Y 7
J J \ \ _ ) \ .
L — ]
N 7 7 .
58.25 FLG END:
YEAR ANSIB16.1
f CLASS 125

CLOW
2638

44 X ©2.00
ON ©62.75B.C.

/@ 66.25

KENNEDY|
Mé&H

o4

AWWA
) xx> C515 (xx ( !
250

DI
USA

RO0O0000

74—

||

3.13

- 40.50 -

48.00 -

- 67.50 -

20

21

PROPERTY OF MCWANE CORPORATION.

ALL MODELS AND DERIVITIVE DOCUMENTATION ARE PROPRIETARY TO
MCWANE CORPORATION AND [TS SUBSIDIARIES.

DESTRUCTION REQUIRED UPON COMPLETION OF DIRECTED USE UNLESS
OTHERWISE ARRANGED. ALL RIGHTS RESERVED. B

THIRD ANGLE PROJECTION.
STANDARDS: ANSI/ASME Y14.100, Y14.5M, AND Y14.41
TOLERANCES AS FOLLOWS UNLESS OTHERWISE SPECIFIED.

CASTING TOLERANCES MACHINED DIMENSIONS

RRRRRR

[DESCRIPTION

+ ESTIMATED WEIGHT
SURFACE FINISH: 125 pin

L BS.| GATE VALVE

[DATE DRAWN: [CHK. BY (CHK DATE: SHEET SCALE SOFTWARE USED

CLCW| |

54" C515 NRS RESILIENT WEDGE

06/30/2021 1:8 Solidworks 2018 SP2



BEVEL GEAR WITH OPTIONAL BOTTOM BYPASS SPUR GEAR WITH OPTIONAL SIDE BYPASS

——16.02—
——19.28—

I e i ———
[/

A SR [i———
f : ) = -.-\ X\ o /] ’._. =
i
, TR BOTTOM BYPASS T 11398
104.06 f l ) |

105.67
101.47 [ Tﬁ' 'ﬁT ] ) T ThH ( ) I ]

] =T T
imml ] {11 11 11 11+ {1 {11 L famil : . L
94.56 , E 94.56
n ] 111 I 11T 1T I {1 i jam|
O 1] v F=s =D s il G &

U — 40.00 !

— L1 | imy L LJ vy A, ) s LH N e
88.81 ) 4 88.81

46.75 F::[{: i —

11 N —
= ] f
1
=

58.25

22.31

N
<—M>
&

SIDE BYPASS

40.00

46.75

| ' 45.63 - 45.63 -

= | . - 52.38 -
- 2231 52.38

O‘r‘
o®

NOTE: GEAR CAN BE ROTATED IN 45° o
INCREMENTS FOR SPECIAL APPLICATIONS Nl VALVE €O

ser | Gcions: e 54" C515 NRS RESILIENT WEDGE

ROUGH PTNO. FINTSHED PT N
TTTTTTTTTTTTTTTTTTTT . PROPERTY OF MCWANE CORPORATION.
STANDARDS: ANSI/ASME Y14.100, Y14.5M, AND Y14.41 | ALL MODELS AND DERIVITIVE DOCUMENTATION ARE PROPRIETARY TO
e NSNS TOLERANCES AS FOLLOWS UNLESS OTHERWISE SPECIFIED . MCWANE CORPORATION AND ITS SUBSIDIARIES C NIDETEN [1GF | IN| Eee [OK REFERENCE — [reveon
B

ANGLE: ~ +1°  [ESTIMATED WEIGHT

+1/16
+3/32° |  SURFACEFINISH:  125pin LBS GATE VALVE e ”
+1/8' 18 . SHEET OF

RADII:

EEEEEEEEEEEEEEEEEEEEEE

MI;\l RA:D‘US_ ’1/8" DDDDD T |DATE DRAWN T [CHK. BY CHK DATE ; .l - .l 2 g D
MIN DRAFT: 2 BLS 06/30/2021 . Solidworks 2018 SP2 6




BEVEL GEAR WITH OPTIONAL BOTTOM BYPASS SPUR GEAR WITH OPTIONAL SIDE BYPASS

——19.52— ©32.00———~

©32.00 = - 16.02

\% I

I ST e——
[/

A A e T R
. | / NI (T =

| == BOTTOM BYPASS RIS n

_ 114.26

104.06 | | == |
N A }Jﬁ _ (J 105.67

101.47 " e J H ¥ I ]
: —— - —
fmal . 11 T 11 11 T {11 L fam} > i
94.56 A d 94.56
m m 111 1T 1Tt 1Tt 1T+ T fami}
G = =, F=, =, =, I, 07 D

40.00

88.81 — —— - 88.81
; Y 46.75 E:gg: T

i
d
£
[
i
d
f
€
g

58.25

SIDE BYPASS

40.00

46.75

| ' 45.63 - 45.63 -

T |- -~ - 52.38 -
-——22.18—~ 52.38

0*‘
o

NOTE: GEAR CAN BE ROTATED IN 45° o
INCREMENTS FOR SPECIAL APPLICATIONS Nl VALVE €O

e | IONS:  sves 54" C515 NRS RESILIENT WEDGE
+ ANGLE:  +1°  [ESTIMATED WEIGHT

+1/16
+3/32° |  SURFACEFINISH: 125 pin LBS GATE VALVE 3 e ”
+1/8' 18 . SHEET OF

RADII:

ROUGH PTNO. FINTSHED PT N
TTTTTTTTTTTTTTTTTTTT . PROPERTY OF MCWANE CORPORATION.
STANDARDS: ANSI/ASME Y14.100, Y14.5M, AND Y14.41 | ALL MODELS AND DERIVITIVE DOCUMENTATION ARE PROPRIETARY TO
e NSNS TOLERANCES AS FOLLOWS UNLESS OTHERWISE SPECIFIED . MCWANE CORPORATION AND ITS SUBSIDIARIES C NIDETEN [1GF | IN| Eee [OK REFERENCE — [reveon
B

EEEEEEEEEEEEEEEEEEEEEE

DDDDD . [DATE DRAWN: [CHK. BY (CHK DATE: D
BLS  [06/30/2021 1:12 Solidworks 2018 SP2 [ 4

MIN RADIUS:




20

3.045—- -

2.295 - -

|
O - | T
f j 99.38 T
— “o e
94.56 - ™ \
[T e T 1 1 Tl / ﬁ\ % _.750
Chnd? el | y // // & \ ‘
= T | |° A
in 5 88.81 ‘ LA |
i STANDARD FA30
MOUNTING |
58.25 \ |
8 X0 81 N\ ’
ON @ 11.75B.C. \@\ /g
Y Y Y @275

BARE STEM MOUNTING FLG

THIRD ANGLE PROJECTION. PROPERTY OF MCWANE CORPORATION.
STANDARDS: ANSI/ASME Y14.100, Y14.5M, AND Y14.41 AL MODELS AND DERIVITVE DOCUMENTATION ARE PROPRIETARY TO
TOLERANCES AS FOLLOWS UNLESS OTHERWISE SPECIFIED. DESTRUCTION REQUIRED UPON COMPLETION OF DIRECTED USE UNLESS [PXREFERENCE e [REVISION ‘ :l uu

CASTING TOLERANCES MACHINED DIMENSIONS OTHERWISE ARRANGED. AL RIGHTS RESERVED. B WAL :"E 0.
0-4": +1/32" MATERIAL [DESCRIPTION '-":""- l"-' L- -
. cajer | DECIMALS: £0.005 |
812 £1/16 FRACTIONS:  +1/64 54" C515 NRS RESILIENT WEDGE

-12": * " ANGLE: £1° ESTIMATED WEIGHT SHEET SIZE
1218 +3/32 | SURFACEFINISH: 125 pin LBS.| GATE VALVE 4

18-UP": +1/8" RADI: 178" : SHEET OF
MIN RADIUS: /8" [DRW BY: IDATE DRAWN: [CHK. BY (CHK DATE: ~ |sHEETsCale  _ _ _ |SOFTWAREUSED
TN RAF - BLS  [06/30/2021 1:12 Solidworks 2018 SP2 | 4




8 ?@
NN
QN

A
]

L

20

N

36.6

395

O ¥ THIRD ANGLE PROJECTION. PROPERTY OF MCWANE CORPORATION.
STANDARDS: ANSI/ASME Y14.100, Y14.5M, AND Y14.41 ALL MODELS AND DERIVITIVE DOCUMENTATION ARE PROPRIETARY TO
TOLERANCES AS FOLLOWS U Wi IFIED. ARIES. F
NLESS OTHERWISE SPECIFIED DESTRUCTION REQUIRED UPON COMPLETION OF DIRECTED USE UNLESS [PRREFERENCE - REVIION t :I_ w
CASTING TOLERANCES OTHERWISE ARRANGED. ALL RIGHTS RESERVED. B e
. MACHINED DIMENSIONS WALVE D
0-4" +1/32" MATERTAL DESCRIPTION WAL L .
48" +3/64" DECIMALS: +0.005 "
oo e | mRACTONS  x1/es 54" C515 NRS RESILIENT WEDGE
e = ANGLE: +1° ESTIMATED WEIGHT SHEET SIZE
: ;( ) 4 : ;¢ ) : ; : ’H ) ; : ;( ) ] : ;< ; 2 12-18" +3/32" SURFACE FINISH: 125 pin LBS GATE VALVE 5
° ° [] [ [ 18-UP": +1/8" RADII: 1/8" SHEET OF
MIN RADIUS: e DRW BY: DATE DRAWN: __[CHK. BY A CEE U )
MIN DRAFT: 2 BLS 06/30/2021 ] 8 Solidworks 2018 SP2 6




VALVES CONFORM WITH FOLLOWING STANDARDS

e AWWA C515
* NSF 61

LOW ZINC BRASS STEM AND STEM NUT AVAILABLE

100% DOMESTIC FASTENERS AND ORING OPTIONS

AVAILABLE

OPEN LEFT (COUNTERCLOCKWISE) AND OPEN RIGHT

(CLOCKWISE) OPTIONS AVAILABLE

TURNS TO OPEN FROM FULLY CLOSED: 800
e +5% WITH STANDARD 8:1 BEVEL OR SPUR GEAR

AWWA MAXIMUM ALLOWABLE CLOSING TORQUE

250 FT-LB INTO STANDARD GEARING

OPTIONAL HANDWHEEL CAN BE SUBSTITUTED FOR
STANDARD 2" SQUARE OP NUTS

e **NOTE: STANDARD HANDWHEEL SIZE CALLED OUT

IN PARTS LIST**

OPTIONAL 8" BYPASS VALVE
e TURNS TO OPEN: 26 (+5%)
e MAX ALLOWABLE CLOSING TORQUE 150 FT-LB

BOTH BOTTOM BYPASS AND SIDE BYPASS ASSEMBLIES

USE THE SAME COMPONENTS

ITEM NO. COMPONENT Qry. SIZE STANDARD MATERIAL MATERIAL OPTIONS
1 BODY 1 DUCTILE IRON -
2 COVER 1 DUCTILE IRON -
3 WEDGE 1 EPDM/DUCTILE IRON -
4 TRACK 2 316 3S -
S SCRAPER 2 C95500 -
6 ROLLER 4 C95400 -
/ COILED SPRING PIN 4 1/2" x 2-3/4" 18-8 SS 316 3SS
3 STEM NUT 1 C87850 C87610 (LOW ZINC)
9 STEM 1 C86200 C99500 (LOW ZINC), 304 SS, 316 SS
10 THRUST WASHER 2 NYLATRON -
11 ACTUATOR EXTENSION 1 DUCTILE IRON -
12 STEM GUIDE BUSHING 1 C87850 -
13 COVER BUSHIING 1 C87850 -
14 BEVEL GEAR 1 - SPUR GEAR
15 OPERATING NUT 1 DUCTILE IRON **32" DIAM HANDWHEEL**
16 O-RING 1 0.375" X 50.375" EPDM BUNA-N
17 O-RING 1 0.375" X 48.375" EPDM BUNA-N
18 CAPSCREW 20 1-1/4"-7 X 7" 18-8 SS 316 3S
19 FLAT WASHER 20 1-1/4" 18-8 SS 316 3S
20 HEX NUT 20 1-1/4"-7 18-8 SS 316 3SS
21 CAPSCREW 3 3/4"-10 X 2-1/2" 18-8 SS 316 3S
22 HEX NUT 3 3/4"-10 18-8 SS 316 3S
23 CAPSCREW 3 3/4"-10 X 3-1/4" 18-8 SS 316 3S
24 PLUG 2 1" NPT 316 3SS -
25 PLUG 1 1/2" NPT 316 3S -
26 O-RING 1 #359 EPDM BUNA-N
27 O-RING 1 #371 EPDM BUNA-N
28 O-RING 1 #352 EPDM BUNA-N
29 O-RING 4 #3472 EPDM BUAN-N
30 O-RING 1 #447 EPDM BUNA-N
31 KEY 1 3/4" X 3/4" X 4 18-8 SS -
32 KEY KEEPER 1 C95400 -
33 CAPSCREW 1 3/4"-10X 1" 18-8 SS 316 3S
34 PLUG 2 2-1/2" NPT 316 3S -
35 CAPSCREW 16 3/4"-10 X 1-3/4" 18-8 SS 316 3S
36 8IN RS BYPASS ASSEMBLY 1 - -
36.1 | 08" C515 NRS VALVE ASSEMBLY / - 14" DIAM HANDWHEEL**
36.2 BYPASS ELBOW 2 DUCTILE IRON -
38.3 CAPSCREW 12 3/4"-10 X 3-1/4" 18-8 §S 316 8S
36.4 CAPSCREW 4 3/4"-10X 2" 18-8 §S 316 8S
38.5 HEX NUT 12 3/4"-10 18-8 §S 316 8S
36.6 O-RING 2 #450 EPDM BUNA-N
38.7 O-RING 2 #448 EPDM BUNA-N

**NOTE: LINE ITEMS 35-36 ARE ONLY
INCLUDED IN VALVE WITH BOTTOM
BYPASS OR SIDE BYPASS OPTIONS.**

BLS

02/11/25

BLS

08/27/24

> |
E N
E w
E &)
w

DR

DATE

CLTW

+1/16 ANGLE: ~ +1°  [ESTIMATED WEIGHT

+3/32" SURFACE FINISH: 125 pin LBS GATE VALVE
’ 1/8' .

+1/8

RADII:

£1/32" o, MA
e | IONS:  sves 54" C515 NRS RESILIENT WEDGE

WALWVE CO.

EEEEEEEEEEEEEEEEEEEEEE

MI;\l RA:DIUS' B N SR T [DAIE DRAWN T [CHK. BY CHK DATE. : -
' - BLS  |06/30/2021 1:8

MIN DRAFT:

Solidworks 2018 SP2

SHEET OF | )

6 EEEEEEEEE 21




	BODY DIM
	Drawing View1
	Drawing View2

	OP NUT DIM
	Drawing View3
	Drawing View5
	Drawing View6
	Drawing View7

	HANDWHEEL DIM
	Drawing View8
	Drawing View9
	Drawing View10
	Drawing View11

	BARE STEM DIM
	Drawing View12
	Drawing View14
	Detail View A (1 : 2)

	BOM BALOONED
	Drawing View16
	Section View B-B
	Section View C-C
	Detail View B (1 : 4)
	Detail View C (1 : 2)

	BOM TABLE

